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GCSE Mathematics (Linear) 1380
Formulae: Higher Tier
You must not write on this formulae page,
Anvthing veu write on this formulae page will gain NO credit,
Yolume of a prism = area of cross section » jength

N

v
c,/)s/ )
«ﬂec‘aon /,
@// f-‘
» \eﬂ%“h
Volume of sphere =2 1° Volume of cone =1k
P 3 : 3
Surface area of sphere = 4 Curved sarface area of cone = vf
B
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In any triangle ABC The Quadratic Equation
o The solutions of ax*+ bx+c=10
where a # U, are given by
b a ———
ot —dac)
y E: ’ 2a
¢
b ¢

. a
Sine Rule ——=——=—
sin4 smB sinC

Cosine Rule o°= P+ 0"~ 2hc cos A4

Area of triangle =Lagbsin C




Diagram NOT
accurately drawn

: [N

B 8.2cm ¢

ABC is a right-angled triangle.

AC=10.6cm. SOWC AH TOA
BC=82cem. —

J——

Calculate the size of the angle marked x.
Give your answer correct to 3 significant figures,

L1
(0.8
= Cos ( Q.. =10 &} = 59,32

Cf@ 50 =

{Total 3 marks)

. Leave }
- blank
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2. Here is a right-angled triangle.

Diagram NOT
accurately drawn
SOH CAR TOA
Som
{a) Calculate the size of the angle marked x.
Give your answer correct to 1 decimal place.
o _ 7 .o é P
b = 2 o x = i[5t
5 {“ ?) o
X = s
3
Here is another right-angled triangle.
Diagram NOT
accurately drawn
yem
400 5:’“ - . D
| SO CAHIA TOR .
12.5cm e
(b) Calculate the value of y.
Give your answer correct to 1 decimal place.
[an 40 = e
12:5
T i
\3”3 ?Qﬁ‘f’ p24 §@‘M Zf'(?}
o 488 o105 em
. ‘E i %5 T evarrrerrarararatataearaan
(Total 6 marks)




Dfagram NOT
accurately drawn
)
4cm
?
p AL g
10cm
Sop cAn TOR
POR is a right-angled triangle. —
QR =4cm
PR=10cm

Work out the size of angle RPQ.
Give your answer correct to 3 significant figures.

Tan (é Q?@} i
O

LRPR = Tan'(#ie)
— 21901

{Total 3 marks)

Leave |

blank ¢
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A Diagram NOT
accurately drawn

Tem

&om

ABC 1s a right-angled triangle.
AE =T cm,
BC=§ cm.

(a) Work out the area of the triangle,

,ﬁrﬁ"@& = %WX?? o ig

{b) Work out the length of AC.
Give your answer correct to 2 decimal places.

P}j Hra 3 OVvAS - A- C‘.’Lz A {ig“wigm @A’L

Mzﬂ:: Qr+ F = b4+

* I -
AC = 1D e e
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D
Diagram NOT
accurately drawn
32 mm
F 46 mm £
DEF is another right-angled triangie. «
DE =32 mm, 5@@‘% CAH TOHR
FE =46 mm. S
{c} Calculate the size of angle v.
(ive your answer correct to 1 decimal place,
.eZm
&V} g
.-$ oy 2
% T ( 322 48 }
T 3 Z??a‘gz; 34«@ %‘3@ o
@ o

{Total 8 marks)
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Diagram NOT
accurately drawn

$

14 cm

ABC is a right-angied triangle.
AC=6cm.
BC =14 cm.

{a} Work out the area of triangle 4BC,

i
............................. em
)
(b} Calculate the length of 4B.
Give your answer correct to 2 decimal places.
ot CA
Pithaqoass  AB = BT+ A
- 2 .l
A”’@ &-::: / ‘Z’I"" 1 é
Mg?w - 252
Ap - V232
- }5.231 /5.23
............................... it
@ Qs
(Total 5 marks)
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A Diagram NOT
580 accurately drawn
i6m
[ .
< B ! o -
o , SOHCAH TOR
ARC is a right-angled trangle. ——

AC =16 m.
Angle CAR = 58°

Calculate the length of 45,
(rive your answer correct 1o 3 significant figures.

. S
Cos 5% = AL . M- 16 cos S

[

= R 5% (354)

{Total 3 marks)
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7.
C THagram NOT
accurately drawn
i3cm
1103
A
9em B )
htea < Paheme
ABC 15 a triangle.
AB =9 cm
BC=15cm
Angle ABC = 110°
Caiculate the area of the {rangle.
: Give your answer correct to 3 significant figures.
i a9 - Sin O
A’f&‘«.: — X 1x 15 x St
| 2.
- 63, 424
LD Q7
é ......... Lt ..... cm? Q“
(Total 3 marks) |




8. Town B i5 4.5 km due West of town C.

Town 4 is 2.4 km due North of town B. g:)@ E‘Ji C Afi”\f TO ﬂ

Diagram NOT
accurately drawn

4.5 km :;3

(a) Calculate the size of the angle marked x.
Give your answer correct to 3 significant figures.

e 24
Tanx = —

’

~ = Tan' (_’l—?é% E 5"3‘“"5>

=2 8-0%F

{b) Find the bearing of town C from town 4.
Give your answer correct to 3 significant figures.

L&A AG0 = HEB
(mlte rrelt mwi-; e%) |

(Total 4 marks)

Leave N
blank
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Diagram NOT
accuraiely drawn

7 om

C
B & om

ABC 1s aright-angled triangie.

AR ="7cm,

BC =8 cm.

(a) Work out the area of the triangle.

Meékm ng%j« = AY

A8 :
............................. ey
{2
(by Work out the length of 4C.
Give your answer correct to 2 decimal places.
5 a2 ’
& : C Wty a4 @M&)
ii;(.{:l* = Y7+ T Pﬂ‘HA A
L Ly o+ B
A€ |
f&(' (' - \j H 3 ........ E Qéi} ...... cm
&)




D
Diagram NOT
accurately drawn

32 mm

F E

46 mm

SO CAN TOA
DEF 18 another right-angled triangle. J@ é-% C ﬁ{ E"‘%’ e
DE =32 mm,
FE =46 mm,

{cy Calculate the size of angle y.
Give your answer correct to 1 decimal place.

fﬁ = Dit- ‘3’2_9

{Total & marks)

Leave

blank
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Diagram NOT
accurately drawn

i0m
1Zm

i5m
B

ABC s a triangle.
AR = 12m.
AC=10m,
BC=15m.

Caiculate the size of angle BAC.,
Give your answer cotrect to one decimal placc

Cosne  tule v ot = b -2 booos k.

. L
Q%‘)(‘ Cos o = i 4+ ~a

CoSA = W"“»% ¢ oa
Zbe
L. & 2
124+l — 15
oS =  ————— ——
AL Lo
' d. 2. - £

(Total 3 marks)

Leave |
blank |




11.

9 cm
o 4
A=3cm—~F D
AC= &cm.
AB = 3cm.
DE=19¢cm.

Angle ABC = angle CBD = angle BDE = 90°.
Angle BDC = 50°,

(a) Calculate the length of CD.
Give your answer correct to 3 significant figures.

/ BCD = 90-50 = 40 o
a2 s = VU

Condo = % Ch =
ss

D= o °

(b} Calculate the length of CE.
Give your answer correct to 3 significant figures.

/. CDE = 4o

Cer. CD+DE - % CDxDExtosdo

[

. Diagram NOT
accurately drawn

_yss

e
G &0

a.es

ceto 55 4197 - Lx USSxi4x Los 4

— \/S§r3gi - A2 i.T%S £35 ifﬁ;;y
e oc

4
{#
3
| Yo |
............................................ cm
3)

{Total 7 marks)
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